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Updurrllp hunlurlhp[ 2023p. p3nt2htr urnur2frh hnuniulru\nui puu h\unfurururhuur\trhp]r

\uruuup{h1 L hburtrlu1 huniuniuruhnrp; nrtrtrhpnd.

l.ZUrqUShL bquunhsLbf

Zurp\urlfrtr h\unfnr-urhhpfr qbrrl urnur2]rtr hmurlulur\nui hruluruurhu{urb 95636.2 h*q..

4purdb +hdurg rJrururnurgfr tfnunphpU burqrihl h 106463.7 hurq. rlpuril \uni \unnurprlhl k
ll2.5o/o -nrl urpl prlnui.
1. Zoqh h*ft\lt qbml rfnr-urphp 2htr hurluruuhurlhp rlrtuuuurglr hrutlurpurqprlhL t 7801.5

h*q. 'Ipuni, nphg Euul qlnr-qhptt' Utqh{utr- 27I,2hurqurp 4puni,Upupu- 285,2hurqurp 4ptuil,
tuurlr2lurtr - 954,2 hruqrup lpulri, Lhtrnr-r1|r- 670,9 hruqurp 4Fturi, Lnt\ur2ftr-1210.7 huqurp

4Furrl, Z*gltq- 297.8 hurqurp 4puni,Uur;frulurh- 442.4 hurqurp 4punf,Uluruhlrfuurh- L299.4

hurqrup 4punl,Lnpurlurtr-48.3 hurqurp qpuril,Urup4rupuulunn qnlrlhg rinrurphp 2hh krlhl:
2. Qnr-3purhurp\ hurdurStrpt hph rlrup2ur\urtr uurpurbptrbpnr-ri qutrrlnrl 2htrphpfr h
2frlrntplnr-ht hptt huntrup rimrnphp 2htr trruluururhurlhl rlruruuurglr hunlrupuqpqht I L279.5

h*q. 4puni:
3. Qnqpurhurp\ ,lttlu*+prurifr2nghbpfr huniurp qlurtrnrl hurluruurburlrub 63363.9 h*q.

4pruilb +hdurg rlrururnruglr rlnnnphpg \uqilh1 L 84389.7 hruq. +pu1ri \uni \rurnurprlhl k
133.2 o/o-n{, nphg Euur qJnlqhph'Ulqbrlurtr-1433.6 hurqrup 4prud,Upurpu-l737.5 hruqurp 4lrurd,
tuurtr2lurh- 3153.3 hurqurp 4pruri,Lhhnr-r$- 98L.2 hurqrup 4lrurd, Lnr[ur2frtr- 4857.9 hurqurp

4pluri, Z*ghh- 4576.6 hurqurp 4pruil, UurlfulurL-1825.9 hruqurp 4lruni, U3urutr[r[urL-4971.9

hurqrup qpruil, Lnpru{urb - 1941.6 hurqrup +purli ,Uurp4rupuuluu- 6073,9 hruqurp 4puni:
4. Zuniultrp[ p1nt2h rlnr-tnpurqprlnq ruh2urpd qnr-;p[r hruphn qturtrnrl tnu]uururhu{rub 31272.3

hurqurp 4purilh +hrfurg rlruruururglr rlnruphpp \urqrihlt 12993.0 hruqurp 4luud \uni \urururprlhl

lKs
$*Y

#le



h

t 41.5 o/o-nrl, nphg gutn qnulhpfr' U3qhrlulL- 110.3 hurqurp 4puni,Upupu- 456.5 hurqrup
rlpurrl,turutrgurtr- 403.5 hurqurp 4pruri,Lhtrnlqb- 458.4 hurqurp lFruri, Lnr-\ur2frtr-1112.4hruqurp

4lrurrf, 2*glr\- 634.3 hurqurp 4lruril, Uurlfru]urir-765.9 hruqurp qpruri, U3urutrfrfuurh-485,4
hurqup +Furil,Lnprurlurir- 172.6 hurqurp +purd ,Uurp4urpurquru-3079.5 hurqrup 4punf:

2. Snhfgbf

Sntpphpfr qbn{ urnur2|rh hnuriuSru\nuf hurlururnhurlub 27423.6 h*q. +Furdb lhdurg
rlruurnurgfr rinruphpp \ruqrihl t 29908.4 h*q. 4puni \rurl \uruuunrlhL 139,6 o/o-nrl:

i. 'Ilkuur\rutr untpphph qbnrl trurfurutnhu{urb 6650,0 h*q. +nruilh 4hriurg r}ruruururg}r

rinnnphpp \ruqrfhlL 9639.0 h*q.+purd \urti \urururn{ht 144.9 o/o-nrl:

2. Shrpl\urtr unr-pphpfr qbnrl trurfuruuhu{ruE 14773.6 h*q. 4pulrih r1lllurg rlrurutnrugf
rlnruphpp \urqrihl t 20269.4 h*q.. lFuni \rud \unnruprlht t Ig7 .2 o/o-n{:

LnrSh prlnr-ri'

ur) hunlultrplr uurpurbpnr-rl hnp \urnnlgrLnq op;h\urhhpfr tr 2|rhnr-p3nr-htrhplr 2frtrurprupnrpSnrtrg
u\ub1nt pnr-llurrlntp;urh dnturphplr qb"{ trrufururnhu{urb 582,5 h*q. 4lrurilb +hriurg rlruruurug}r
rinrurpurqp{htL 468.0 h*q. 4purli \unf \urnurprlhtL 80,3olo:

F) huniurltrpfr ururpurbpnr-rf qurtnlnrl oplh\urhhpp rlbpur\urnnr-gh1nr- ur2]uururuhptrhp

\rurnurphlnr- pnt31.n{ntplurtr rtnrnphp}r qEnrl trurfuuruhurlurE 101.5 h*q. 4purilh +hriurg
rlruruururgfr ilnr-nphpp \urqrihl htr 114.0 hruq. 4pruil \unf \ruurruprlhL k 112.3 o/o-nrl:

q) huniurlt plt ,l*p2tu\urtr ururpruEpnui 2htrpbph, Zlrt nrp;nr-trtrhFh, purrlurpru2frtrur\urh url1
op3h\tntrhplr prutrryiurh pntllu{nrplurtr huniurp hru}uruurhurlrub 30.0 hurq. r}puldh +hrirug
rlruruugfr ilnr-rnphpp \ruqrihl hh 20.0 h*q. 4pruli \uni llurnurprlht t 66.T o/o-nrl:

4) huniurltrpfr tnurprubpnr-rf nqhlbg |urilr2ptrhp h (\ruri) bluurlunurlr urprnrurlprubph phforugh\
rnurprlur rlurdrunpfr pntSlur{nrpSurtr hunfiup rinruphp}r qbnrl tnu}uruurhurlrub 4780,0 h*q.
4Furilh +hriurg rlruruuurglr rinr-tnphpp \ruqrih1hh 5105.9 hruq. 4lnuri \ruri \ururunrlhl h 106.80/o_

n4,nphg'buu qlnulhnh' Utghq.urh- 70.0 hruqurp 4prurf,Upulpu- 275.0hurqurp +prud,tuurtr23ruh-
110.0 huqurp +ptuli, Lhtrnr-qh- 75.0 hurqurp qpuni, Lnr-\ru2|rtr-95.3 hurqrup lpur{, Z*gh\-
133.8 hurqrup 4puril, Uur3|rupub-61.5 4pruil, Ulurutrlr[urtr- 23.0hurqulF 4prud, Lnpurrlurh - 34.5
hurqurp 4puril , Uurp4ruprulqrum- 252.5 hruqurp rlpuni:
h) hullurShpf tnrupurEpnul FugopJur rlrudrunp \ruqtiru\hpqhlnr pnrspnrlnrpluh rlnnnphpfr
qbn{ hur}uunnhur{urb 300,0 h*q. +purilh +hriurg {uuuurrugfr dnrupurqp{hf L 675,0 h*q. r}pruil

\urri \uruurp4hlt225,0 o/o - nrl:

q) Zuriurltrpfr rnurprubpnul hhrlnr-\ rlurnhfrpfr, urhlutrlr\ru\urtr hhrlnr-\trhptr, hh{or-\rug{urb
quqbpb rlurhpurburlu urnhtnplr \hurhpnui hhrlnr\ rlurnhrlrpfr, rnhlutrlr\ur\urh hhrlnt\hhplr,
hhrlnr-\urgrlurb qurqhplr rlurdurnpfr pntlSnrlntplutr huniurp quqb tr rlurnhrfrpurpuu{nlqurlbtr



,r

hlnrphplr rlurdurnpfr qb,nq 1781.3hruq. +Puldb +trdurg r]rurutnrug]r rlnunpurqpqhr k 4265'0 htttq'

4pulil \urd \uruluprlhl t 239.4 o/o-n*

k) Zruriur3trplr tmuprubpnul urnburplr, hurtrpur]ftr utrtrrlfr, qrlurpdruhplr, 2urhnr-rinrl ]uurqhpb tr

rllrdur\ruluruqhplr \ruqrftu\bpqriurtr op]h\tntrhPB, FulrtLttptthpn (uurnthurhhltE)' ]uruqruurtrhpp

dorrip 24.00- |rg hhurn ur2]uururhlnl Pnl.Jlulrlnr-plurh hruriurp rinr-uphplr qbnrl hurluururhu{urb

800,0 hurq. qpurdh +trdurg rlrruumurglr rinturpurqprlht L 1654,2 h*q" 4llluli \unf \ulnurprlhl h

206.8 o/o-ml:

E) hu[iurltrp[r ururpurbpmri uhroutg]t\ uurp{ur hruriurp urpulup}rh qnquq.4 uh{ur4phlnt

pnr-l1tnrlnr-plurh rlnr-tnphplr qbnrl trurluunnhurlurb 3500.0 h'uq' I}Fuldh rlbrlurg rlrururnurgf

rinr-tnpurqprlhtk 4576.I hutq. 4puld \unl \urururp{htk 130'7 o/o-n{:

rd) huniur3hplr urrupurbpnrd riurp4urtnurp Purputr brunru]ntplnttr utrrautglr\ uurpnr-rf

|rpru\urtrurgtrhlnr pmFnrlmrdlulh hu[iurp dnr-rnp 2]r trru]uuruhu{h1 rlruruururg}r ilnr-tnpurqp{hl

h 50"0 hruq.. 4Pruri:

d) hruriurltrp[ ururpurbpnul purh\urpdhp rihuuuqtrhrtttg ulurupuurmlurE ltpbplt rirutrpurbru]u

runnr-{rudulnpF rnruph\urh pnrsFnrlntpSruh hruriurp hur}uuruhurlurb 1150'0 hutq.' +pulrfb +luiutg

urp+hh rrotl 1-lrl, hnrurfuJur\nui rlruruuruglr rintupurqrtrlht k 1205,0 hutq' qFurli \*'I

\ruuuprlhl L 1 04,8 o/o-nrl:

b) hruriurltrpfr rnurpurbpmri quhrlnq ]uurtrntphhpnr-rf, \prqur\trhpnr-il urh[utr]r\ur\utt

hhrlnr-\hhplr rlur-durnplr pnrSlurrlnr-plurtr hruriurp rinttnphplr qbnrl hurluunnhu{urb 1000'0

hrrrq. qp,,,db +hriurg r[ruuururg]r rinturpurqprlht k 1876,5 h*q' 4pu11i \rurl \unnruprlhl t

I87,6 o/o-nrl:

I hu[Iur]hp]r tnrupurbpnr-ri hruhpurl]rtr utrtr+ir \urqrlur\hpuiliurh tr ]rpurgriruh pnr-lltmlntplurLr

hrurlurp rlnr-rnphpfr qbn{ tnu}uunnhurlurb 748,3 h*q' r}pulilh +lrrfurg r}ururmugfr

dnr-urpurqprlh L 7 44,8 h*q. rlFtuti \rurl \ruururprlht k 99'5 o/o-nrl:

ctrpurgb\ trhpplrh qul2untrur\urtr 4puriur2trnphtrhplr qbnrl t[u]uuruhurlrub

307680.3 hurq. 4puldb +tltiurg r]iluurnurg]r $]rtnutruunlnprlhl k 3156a9'2 hurq' 4pruri \rurf

\ruuurprlhl L 1 02.6 o/o-nrl:

ru) ,rlhurur\urh plnr-2hlrg $frtnutruur\rutr hunlurhrupphgilurh u\qpnrtrpnr{

tnpruilru4p{nq 4nururg}ilutthplt qbnrl trur}uururhurlurb 306972.2 h"tq' +Fuldb +hilulg

rfuruuurglr $|rrnutrururlnp{h1t306g72.2h*q. r}Furli \ruri \urtnruprlhlt 100'0 o/o-nrl:



F) 'Tlhurru\urh p3nr-2h[rg urpunlur4prlnrl hqururur\uqhh hunn\urgnr-ritrhp]r
(untp{htrgfurhhp) qbnq hur}uururhur{ur8 708.1 h*q. 4pruilh r}bdrug r}rururnurgfr

$f trurtrururl"ttrlhr k 583.5 h*q. +punf llrurl \ruururprlht t g2.4 o/o-n{:

q) 'Tlhurur[urtr p1nt2h[rg rnpurdur4nrlnq \urq]rururl
+prutlur2hnphtrhpfr qbn{ rlnru'purqprlht k 8093,5 hurqurp 4puni:

qur2rnnhur\urh

4. U3L bquunr'sLbf

u11 h\rudnr-utrhplrg ilnttnphpfr qbnrl trurluuruhurlurb 58191.6 h*q. 4lrruilb +hrfurgrlruutnurglr rinr-upurgpqhl 60579.4h*q.+prurf \u*i \u^nurprlhlt 104.1 %-nrl:
Lnr-1tr prlnr-rf'

1' Zuriurltrpfr uhrfnu\uhnr-pJnr-tr hrurfurp{nr1 hnrlhpfr {urp&ur[ru1nr-p3urh qbn{
lrulururnhurlurb 10153.2 h*q. lpurdh qhilrug rlrurutnurglr rlnunphpp \ruqrihl hh gg4g.5

h*q.. +purli \uni \ruuurprlhl k 92.1 o/o - nrl, npbg Eum qJnlqhplr' u:qhrl*lr- 185.2 hurqurp
4pu'i,upurpu- 60.0 huqrup 4pruri, fururr23rutr- 555.2 hruqurp 4pu*i, Lhtrnulfr-25g.4
hruqup 4Pulti,Lnr-\ur2frtr-5.4 hurqrup 4puril, Zrugh\-235.0 hurqurp elruril, Uur;|ruSrutr-g

4Furil,Ulurutrlrfurutr- 260.lhurqurp 4Funi, Lnpurr{urh - 0 4lrurli , Uurp4urpuulurur- 122.4
hruqurp 4puni:

2. Qnr-1plr rlrupd'ur\ru1nr-pSurh qbnrl irurfururnhu{ruE 1106.0 h*q. 4lruilb +tlirug
rlrruutnurgfr rinrurpruqpqhh 1091.1 h*q.4lrurd \unf \unnurprlhL tgg.T o/o - nrl:

3' Shu-trhpfrtr qburntppuh l1"qrfhg utuurlbpur\rlurE firurqnpntp3nrhtrhpfr
fpur\urtrurgriurtr burfuuhpf $frtrrutrururlnprfurtr hrurftup umurgrlnrl ri]r2nghhph qbnrl
qlluhnrl hrufuurnhu{rub 1620.0 h*q. r1purilb +}lfurg r]rurur-nrug}r $frtrurtruru{npnr-rlp
\*grihLL 1199.4 h*q. 4pruri:

4' Ophtrpn{ uurhriurtrrlurb 4hqphpnr-ri hrurfurltrpu{hb hfnitrurp\trhph Urrtrilrg
urnruhg rnhrlur\rutr urntpplr qruhd,riurh riuurntgrlnrl burnur;nrp3nrtrtrhnh hruri \ulnurpr{nr1
qnpbnrlntplnr-htrhplr +Infurg uurug{nq (qrutrd.{nrf {druptrhpb qbnrl hurfuunhurlurb ITI2,I
h*q. 4lrulilh rlrruuururgfr rlnr-urpp \urqrfhl L 1178.2 h*q.. +purli \uni \urtnurprlhl t
trurfu ur urh urlurbfr tr\unnrftu rlp 65 . 7 o/o -nrl:

s. shqurlilutr rldurptrhplr qbnrl trurluuurhurlurb g527o.z h*q. +Fruilb +hil*g
rlrururnurgf rfnr-urprugpqhtt 41500.3 h*q. rlpurli \uni \urununrlhr trlr.T o/o - n{:

6' Zunlurltrpfr rlurp2ur\urtr ururprubpnnl |trptrur\uni \urnnrgrlurb 2hhphplr,
2|rhntplnr-ht hptt oplrtrur\urtrurgrfurtr hurilurp rldurptrbph qE".l trurfuunnhurlurb 7000.0 h*q..



+Fulilh +ttrf*S rlnuurmuglr rfnttnpurqp{h1t529I.2 h*q.. 4pluti \ruil \urururprlht t.75.6 o/o -

nrl:

7. .{rup2ru\rutr hp*.1*lour}uunufhhp}r huniurp rnhrlur\uh [hphru\urnru{urpriurh
tturprlfrhtrhplr lf"q,Iltg qruuuruluurhruu{mplurh ti}r2nghhph \}rpurnnr-ilfrg

h\urrinrulrhphg trurluunnhurlub 375.0 h*q. +pruilh lhriurg rlrururnruglr rinr-np 2htr

\ruuurprlhl
a. Ophtrpn{ h frpurrlur\urtr u{L ru\urhpnrl uruhriurhrlurb hudu3bp[ plnr-2h

ilmtnpurqprlnq u{L nl hurp\ur3}rtr h\unfnr-urtrhpfr qbn{ ururph\urtr trur}uunnbur{rub 875.0

h*q.r1purdb +hriurg rfrururmuglr rinr-rnpp 1-fh hnurfulur\|rtr \urqdhlk 150.0 h*q. 4pruil :

Upilunllrp hrurlurltrplr 2023p. p3nr-2hfr runur2frtr hnunlu3ru\nr-rf ptr4unihhp

lrurfuururhurfurb 48t931.7 h*q. 4lrurilb +lrriurg rlruruuurgfr rfnr-urphpp \ruqrihybb,512594.7

h*q.. 4puril h*ri \urururprlhf k 106.4 o/o-nrl, uhrluu\urtr h\uninr-urlthplt qbnrl

lrurluurrnhurlurb t7263L.4 h*q. 4lrurlih +hrlurg rlnuuururgfr rinr-nphpg \uqdhl hh 195746.1

h*q. 4lrurli \uri \urtnurprlhlh 113.4 o/o-nrl:

A U Iu U bf/4 utlzgn 8 u tt FJn ry A
Uprirurllrp hurilurlhpfr 2023p. plnr-2hh runu2|rh hnuniulur\ntd puur bpruqphph

bruluuhpp \ururup{h1 hh'

CL'I2, ULn f'I. trLn h3 fdl-' ZUL| US f,L OUn' Ugn hfd3 n hLLbl
t- u Ophhu4|rp h qnpbur+bn durp{}rtrtrhp, 01 prudfrtr l-frtr }unr-rfF 1-htt 4uru

trruluururhurlurb 113648.9 h*q.+Fuldh +lnirug rlrurutnurglr bruluup \urqrihlk 77242.9 h*q.

4purli \ruri \ururuprlhlk 68.0 o/o-n{:

z. '" uCtrrlhruhnr-p ptrmlpfr hurtrpurlfrtr brunulnr-plnrhhhpu 01 purd]rtr 6-frtr [unufp 1-hb

quru lnuluururhurlurb 17643.2 h*q. 4prurlb +hrfiug 4pruriurp\rluJhh bruluup \urqrihl k

11755.5 h*q. 4purli [uni \ruuup{h1k 66.6 o/o-nrl:

s\,sbuuquL zuf I Fbrnhr€nhLLbr

t\

l.flnnqnr-tf 04 purdfrtr 2 funuip 4 4ruu hur]uulnhurlrub 28399.7 h*q. qlrurilh +hriug

4pruriurp\qulhtr burluup \urqrih1t12699.9 h*q. lpurd \uni \unnruprlhtt44,7 o/o-nrl:



z' durtnurqu'nhrullrtr upruhuqnpur 04 purdlrtr 5 funr-rfp 1 4uru' t'ulururnhurlrub
8000'0 hruqrup 4lr,'ilF +lt I*g qprurftupQqu{hh bo,lurru llruqrlhl 0,0 hurq. 4prurf \rurf\ruurupr[hl t 0,0 o/o-nr[:

r' shurhuur\rutr hrupurphpnrpjnr-trtrhp (urtr 4uruhpfrrr 2qu*n\urtrnq) o2 $hrr.ur\rnllltrhp]r oulupn'rfrg rfn*nphp 04 purd]rtr 9 funr-rfp t 1*,r' 2hb rrruluruuhu{h1
{nuurmug}r dnruphpU hurqrthf hh -l 1447.shurqurp 4puril:

l'uqpurhrutrnr-rf 05 purdftr l-|rtr funuip l-lrtr 4u1u hrufuururhurlurE 55260.0 h*q.
4lrudh +llfurg r]rruuurug]r brufuup \ruqrfhl 44a06,T hurqurp +Furd \ruri \rurnurprlhl k79.6 o/o-ntl:

t' gprurfurtnur\rupurpnuf 06 prudfrtr 3 |unr-dp l-fitr 4uru' trurfuururhur{urb 16000.0h*q' 4Pu[ih +hrfurg r]nuuururg]r Eurfuup \ruqrfhl L 13524.1 h*q" 4pulil llunl \u^nurprlhl h84.5 o/o-nrl:

z' Qnqnghhpfr 1nr-uur{npnr-rf 06 purd[tr 4 funr-rfp l-]rtr 4uru' tnu]uuruhu{urb 13500.0
h*q'4pluilh +hrftug rlruruururglr Eurfuup \urqrfhlk 10631.2 hurqurp 4lruri \ruri \urtnurnrlhLt78,7 o/o-nr{:

r' trtrrullurprutrurSfrtr 2|rtrurpurpnr-plurtr h \nrinr-hur1 burnur;nr-plnthhhp (ur:L
4uuhplrtr 2quru\rutrnrl) 06 prudfrtr 6 fumrfp l-]rtr 4uru' hurfuururhurlurb 21g;.1huqurp
+ptuilh +hrftug rlrruuururglr burfuug \ruqrfhlk 1640.lhuqulF llru*i !u*I lu*nurprlhL EsT.To/o-g;{:

1' Qpru4urpurlrtrhp 08 purdftr 2 |unr-tip 1 4uru'burfuururtur{urE 9500.0 hurq. qpurilb +h.I*srl'uurnruglr burfuup \urqrihl t g259.g hurq. 4pu*i \ruil \u*nurptlh t g6.9 o/o-ml:

2' u2urllnqpfr rntrhp, ru\nufphhp, \hlnnpnhhhp 08 prudlrh 2 lor..Ip 3 4uru' lurfuruuhurlrub
9500'0 hruq' qprurilr +htftts rlnuuururglr burfuup \urqrihl h g526.3 hurq. qpurd \urd \ruuurpr{e t89.8 o/o.nrl:



a.Qlrihphtrurtrhp h uurppur{npnr-ilhhp,hn4rlurb 5129'hurfurutnhurlurb 1000.0 h*q. 4lrurilb

+hdug rlruruuuuglr Eruluu 2[r \unnurprlhl.
5. Lruluruqburhhtnurqnurru\rutr burluuhp, hn4{urb 5134 trur}uururhurluE 10500.0 h*q.

4lrunlb +h,I*g rlruruuurgfr burluu 2|r \uruuntlhf.
2023 p{ul1uh[ runur2]rh hnunfu;ur\nr-il rurlrupunlht hh 2022prlur\urtr]r 3-n+

hnuriluluUbb dhUhrup\urE unrprlhtrglrntr bpurqphFtrg Upriunllrp pruquph fuhq 3 b fultrl 7

rfurtr\ruqurptnhqtrhpf 2htrphplr 2bnnr-griurh hrutfur\rupqh \urnnrgrftutr, qurqur$|r\rugriurtr,

hhtt rlntrhpp b qurunr-hurhhhpp trnpn{ t"lr*phtnfurh, Lhtrnr-qfr qlnlqh

2pruriunnru\urpurptfrutr gurtrglr rlbpurtrnpnqriurtr ur2|uruuurhptrhpp:

Up{utttftp hut{u4bp} 2023p. p1nL2h} wnta2rttt bntat[uluQnut ph4uttthftp

[tutfutunhut/utt 1067145.0 h*q. qfw{h ,iltrI*g {ttuuntug} tufuup Qutqtth7 t
409604.9 hutqwp 4putt Qutt Quttnupt/h1 t 38,4 o/o-nt/:

tr3nhgbh uhgntLbrh rlh$hthsc bq $hLuLuuqnruuL

ur[FSnhfLbfc

UptIutllry hut{u4ltpJt plnLghlt 2023 p{wQuhrt nwphuQqplt uqwu {ttutgnp4p

Qutqtth1 t 588032.7 hutqup 4pw{, fuQ uitugrttt hnutttulwQf {tutuuwgf huttlh7ntp4p

Qwqdh1 f 702548.0 hutqwp 4putd:


